SEARBUM AL BEH 1R S

B REE RS
e E{1 =L DA KA HRIRFS
BERS | THRS
L[ BIeRBOm (—4) | AK 1 91.52 87.00
2 | BHIHREAREIN (—4) | A 2 85. 92 83. 74
3 (WIRSEAREIL (—4D | AR 3 74. 46 93. 30
4 |WIPSERBUN (—4H) | A 4 74. 88 75. 72
5 (WIS AREIL (—4D | A 5 76. 62 76. 60
6 | BIPERAREIL (—4D) | A 6 75. 44 83. 50
T |\WIRSEARZEIN (—dHD | AR 7 90. 94 87. 46
8 |WIFEAREIN (—4HD) | AK 8 84. 30 84. 00
9 |FIFEAREIN (—HD) | A 9 84. 36 82. 50
10 |WIPSERAUD (—4) | A 10 77. 44 77.88
11| WIPSEREUD (—4D) | A% 11 83. 70 84. 40
12 | Bl RN (—4) | Ak 12 82. 94 83. 20
13 | WP REUD (—4D) | A% 13 91.72 84. 10
14 | BRI (—4) | Ak 14 69. 74 70. 22
156 | WP REUD (—41) | A% 15 92. 66 76. 48
16 | Bl AREIN (—4) | Ak 16 82. 96 82.76
17 | WIPSERZUD (—4) | A 17 72. 64 82. 26
18 | WIPSEARZEUD (—4) | AE 18 92. 50 93. 64
19 | HIPSERZEUD (—4D) | A 19 82.98 77.02
20 |EREARAN (—4D | A% 1 84. 20 83. 02
21 | EHEARAN (—4) | AK 2 86. 76 93. 56
22 |ERERAN (—HD | A 3 83. 64 88. 00
23 | EHEARAN (—4HD) | A 4 72.24 80. 84
24 | mTPEAREIN (—H) | AE 5 72. 66 80. 12




BAEH AR S

Fs E{23:LA= KA RALRS| HIRIRTF S5
EERS | TWES

25 RRERZLE AR AU A 1 80. 14 72.22
26 RRIRZE SRR AU A 2 76. 06 71. 06
27 eI E AR AU A 3 92. 12 84. 72
28 FRIRZE SRR AU AZE 4 85. 00 71.46
29 FEIRHE = AR AU AZE 5 73.22 70. 74
30 RRIRZE SRR AU A 6 90. 82 83. 76
31 eI AE 2 AR AU A 7 71.72 82. 64
32 RRIR 2 SRR AU A 8 82. 36 73. 50
33 eI AE = AR AU A 9 92. 00 85. 02
34 RRIR 2 E SRR AU A 10 83. 74 85. 24
35 |WIREARAN (Z4D | BE 1 74. 72 75. 58
36 | WIPSEAREIN (Z4H) | BE 2 69. 90 70. 02
37 | HIHEARBN (Z4H) | BX 3 84. 44 92. 94
38 |WIPSEAREN (ZH) | BE 4 91.10 78.78
39 | HIHREARBN (Z4H) | BE 5 84. 70 86. 52
40 | WITEARAD (Z4H) | BE 6 69. 64 70. 36
41 |FIREARZEN (Z4D) | BE 7 85. 30 93. 28
42 | BIPSEARFUN (4 | B 8 90. 84 86. 22
43 | FIhEAREN (Z4D | BE 9 68. 42 77. 20
44 | FIPSEARAUN (4D | B 10 91.90 87. 02




